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With	
  reference	
  to	
  Figure	
  1	
  and	
  Extract	
  1,	
  explain	
  why	
  the	
  price	
  of	
  potash	
  increased	
  
between	
  March	
  2010	
  and	
  March	
  2012.	
  Use	
  a	
  supply	
  and	
  demand	
  diagram	
  in	
  your	
  answer	
  

Figure	
  1	
  shows	
  that	
  the	
  price	
  of	
  potash	
  increased	
  from	
  
circa	
  $330	
  in	
  March	
  2010	
  to	
  circa	
  $470	
  in	
  March	
  2012,	
  
a	
  rise	
  of	
  40%.	
  Extract	
  1	
  refers	
  to	
  “soaring	
  global	
  
demand	
  for	
  potash”	
  because	
  of	
  the	
  growing	
  derived	
  
demand	
  for	
  fer4lizer.	
  This	
  is	
  shown	
  in	
  the	
  diagram	
  
where	
  there	
  has	
  been	
  an	
  outward	
  shiT	
  in	
  the	
  market	
  
demand	
  curve	
  causing	
  an	
  expansion	
  of	
  supply	
  and	
  a	
  
higher	
  equilibrium	
  price	
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Analyse	
  why	
  the	
  price	
  elasCcity	
  of	
  supply	
  for	
  potash	
  is	
  likely	
  to	
  be	
  low	
  in	
  the	
  short	
  run	
  	
  
(6	
  marks)	
  

Price	
  elas4city	
  of	
  supply	
  (PES)	
  measures	
  the	
  
responsiveness	
  of	
  supply	
  to	
  a	
  change	
  in	
  
market	
  price.	
  A	
  low	
  PES	
  means	
  that	
  the	
  
coefficient	
  of	
  elas4city	
  is	
  less	
  than	
  1.	
  In	
  the	
  
short	
  run,	
  PES	
  is	
  likely	
  to	
  be	
  low	
  because	
  of	
  the	
  
long	
  4me	
  frame	
  between	
  discovering	
  new	
  
potash	
  deposits,	
  geYng	
  planning	
  permission	
  
and	
  then	
  organising	
  the	
  factor	
  inputs	
  to	
  
extract	
  them.	
  Extract	
  1	
  says	
  that	
  there	
  is	
  only	
  
one	
  potash	
  mine	
  opera4ng	
  in	
  the	
  UK	
  and	
  that	
  
supply	
  cannot	
  meet	
  demand.	
  This	
  tells	
  us	
  that	
  
the	
  mine	
  will	
  be	
  working	
  close	
  to	
  full-­‐capacity	
  
and	
  that	
  stocks	
  of	
  potash	
  may	
  be	
  low.	
  These	
  
are	
  two	
  factors	
  making	
  supply	
  inelas4c	
  in	
  the	
  
short	
  run.	
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Analyse	
  –	
  means	
  that	
  no	
  evalua4on	
  is	
  
needed.	
  Only	
  KAA	
  is	
  tested	
  in	
  this	
  
quesCon!	
  



Using	
  the	
  informaCon	
  provided	
  and	
  your	
  own	
  knowledge,	
  assess	
  the	
  possible	
  problems	
  of	
  
fluctuaCng	
  prices	
  for	
  producers	
  of	
  potash	
  (10	
  marks)	
  

Figure	
  1	
  shows	
  that	
  the	
  price	
  of	
  potash	
  has	
  fluctuated	
  over	
  the	
  last	
  3	
  years.	
  It	
  has	
  
varied	
  from	
  $330	
  in	
  March	
  2010	
  to	
  a	
  high	
  of	
  $500	
  in	
  2011-­‐12	
  before	
  falling	
  back	
  to	
  
$390	
  in	
  March	
  2013.	
  	
  
Vola4le	
  prices	
  create	
  problems	
  for	
  producers	
  because	
  it	
  is	
  hard	
  for	
  them	
  to	
  forecast	
  
their	
  revenues	
  and	
  profits.	
  Investment	
  in	
  explora4on,	
  drilling	
  and	
  extrac4ng	
  potash	
  
is	
  expensive	
  and	
  involves	
  a	
  high	
  degree	
  of	
  risk.	
  If	
  demand	
  is	
  price	
  inelas4c	
  (Ped<1)	
  
then	
  a	
  rise	
  in	
  market	
  price	
  will	
  lead	
  to	
  higher	
  total	
  revenues	
  and	
  increased	
  
profitability.	
  But	
  if	
  investment	
  happens	
  expand	
  capacity	
  and	
  then	
  the	
  world	
  price	
  
suddenly	
  falls	
  (for	
  example	
  due	
  to	
  a	
  slowdown	
  in	
  BRIC	
  countries),	
  then	
  potash	
  
suppliers	
  will	
  be	
  leT	
  with	
  unused	
  capacity	
  and	
  falling	
  prices	
  which	
  could	
  leave	
  them	
  
with	
  unsustainable	
  losses.	
  	
  
However,	
  Extract	
  1	
  says	
  that	
  the	
  supply	
  cost	
  of	
  potash	
  is	
  low	
  at	
  just	
  $37	
  per	
  tonne.	
  
Given	
  that	
  the	
  world	
  price	
  of	
  potash	
  has	
  remained	
  well	
  above	
  $260	
  per	
  tonne	
  in	
  
recent	
  years,	
  even	
  a	
  high	
  degree	
  of	
  vola4lity	
  is	
  unlikely	
  to	
  create	
  major	
  long-­‐term	
  
problems	
  for	
  potash	
  producers.	
  They	
  ought	
  to	
  be	
  able	
  to	
  make	
  a	
  good	
  profit.	
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Using	
  the	
  informaCon	
  provided	
  and	
  your	
  own	
  knowledge,	
  discuss	
  the	
  case	
  for	
  allowing	
  the	
  
potash	
  mining	
  project	
  to	
  go	
  ahead	
  in	
  the	
  North	
  Yorkshire	
  Moors	
  NaConal	
  Park.	
  (14)	
  

Extract	
  1	
  tells	
  us	
  that	
  Sirius	
  Minerals	
  have	
  discovered	
  
es4mated	
  potash	
  deposits	
  of	
  2.2	
  billion	
  tonnes.	
  One	
  of	
  the	
  
main	
  arguments	
  for	
  allowing	
  the	
  mining	
  project	
  to	
  go	
  ahead	
  
is	
  that	
  it	
  will	
  create	
  a	
  large	
  number	
  of	
  highly	
  skilled,	
  well-­‐paid	
  
new	
  jobs	
  for	
  the	
  regional	
  economy.	
  This	
  increased	
  demand	
  
for	
  labour	
  (shown	
  in	
  my	
  diagram)	
  could	
  lead	
  to	
  a	
  strong	
  
mul4plier	
  effect	
  helping	
  to	
  boost	
  real	
  living	
  standards	
  in	
  a	
  
region	
  where	
  GDP	
  per	
  capita	
  is	
  below	
  the	
  UK	
  average.	
  New	
  
jobs	
  could	
  help	
  to	
  overcome	
  structural	
  unemployment	
  from	
  
the	
  loss	
  of	
  jobs	
  in	
  coal	
  mining	
  as	
  there	
  is	
  a	
  high	
  level	
  of	
  
occupa4onal	
  mobility	
  between	
  the	
  two	
  industries.	
  	
  
However,	
  the	
  final	
  impact	
  on	
  unemployment	
  would	
  depend	
  
partly	
  on	
  whether	
  these	
  new	
  jobs	
  went	
  to	
  local	
  workers.	
  
There	
  might	
  also	
  be	
  skills	
  shortages	
  causing	
  potash	
  producers	
  
to	
  recruit	
  from	
  overseas.	
  The	
  employment	
  effect	
  would	
  also	
  
be	
  limited	
  if	
  potash	
  mining	
  is	
  capital-­‐intensive,	
  i.e.	
  heavy	
  
machinery	
  might	
  be	
  used	
  because	
  it	
  is	
  more	
  cost	
  efficient.	
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Two	
  further	
  arguments	
  are	
  that	
  
local	
  farmers	
  might	
  benefit	
  from	
  
cheaper	
  supplies	
  of	
  potash	
  (a	
  
posiCve	
  externality)	
  and	
  that	
  
exports	
  of	
  potash	
  would	
  rise	
  
helping	
  the	
  UK	
  balance	
  of	
  
payments	
  (trade	
  posiCon)	
  



Using	
  the	
  informaCon	
  provided	
  and	
  your	
  own	
  knowledge,	
  discuss	
  the	
  case	
  for	
  allowing	
  the	
  
potash	
  mining	
  project	
  to	
  go	
  ahead	
  in	
  the	
  North	
  Yorkshire	
  Moors	
  NaConal	
  Park.	
  (14)	
  

Extract	
  1	
  tells	
  us	
  that	
  the	
  potash	
  deposits	
  are	
  found	
  in	
  the	
  
North	
  Yorkshire	
  Moors	
  Na4onal	
  Park.	
  Allowing	
  mining	
  to	
  
take	
  place	
  is	
  likely	
  to	
  lead	
  to	
  nega4ve	
  externali4es	
  such	
  as	
  
increased	
  air	
  &	
  noise	
  pollu4on	
  and	
  external	
  costs	
  from	
  traffic	
  
conges4on.	
  This	
  might	
  cause	
  damage	
  to	
  local	
  tourism	
  with	
  
Extract	
  2	
  sugges4ng	
  a	
  possible	
  15%	
  drop	
  in	
  visitor	
  numbers.	
  
Without	
  some	
  form	
  of	
  government	
  interven4on,	
  there	
  is	
  
likely	
  to	
  be	
  market	
  failure	
  because	
  the	
  marginal	
  social	
  cost	
  of	
  
produc4on	
  is	
  higher	
  than	
  the	
  marginal	
  private	
  cost.	
  This	
  is	
  
shown	
  in	
  my	
  analysis	
  diagram.	
  However,	
  the	
  planning	
  
authori4es	
  might	
  insist	
  that	
  Sirius	
  Minerals	
  takes	
  steps	
  to	
  
reduce	
  their	
  carbon	
  emissions.	
  Potash	
  mining	
  is	
  part	
  of	
  the	
  
EU	
  emissions	
  trading	
  scheme	
  which	
  puts	
  a	
  price	
  on	
  each	
  
tonne	
  of	
  CO2	
  so	
  producers	
  already	
  have	
  an	
  incen4ve	
  to	
  
control	
  emissions.	
  We	
  are	
  also	
  told	
  that,	
  as	
  part	
  of	
  the	
  
agreement,	
  they	
  are	
  planning	
  to	
  invest	
  in	
  building	
  an	
  
underground	
  tunnel	
  to	
  transport	
  waste	
  materials.	
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NegaCve	
  externaliCes	
  are	
  
spillover	
  costs	
  arising	
  from	
  
producCon	
  of	
  consumpCon	
  for	
  
which	
  no	
  appropriate	
  
compensaCon	
  is	
  paid	
  



Discuss	
  the	
  factors	
  which	
  might	
  influence	
  the	
  supply	
  of	
  labour	
  to	
  the	
  mining	
  industry	
  or	
  
another	
  industry	
  of	
  your	
  choice.	
  (14)	
  

The	
  labour	
  supply	
  is	
  the	
  number	
  of	
  hours	
  people	
  are	
  willing	
  and	
  able	
  to	
  
supply	
  at	
  a	
  given	
  wage	
  rate.	
  The	
  labour	
  supply	
  curve	
  will	
  be	
  upward	
  
sloping	
  because	
  as	
  wages	
  rise,	
  workers	
  enter	
  this	
  industry	
  anracted	
  by	
  
the	
  incen4ve	
  of	
  higher	
  rewards.	
  The	
  extent	
  to	
  which	
  a	
  rise	
  in	
  the	
  wage	
  
rate	
  leads	
  to	
  an	
  expansion	
  in	
  the	
  supply	
  of	
  labour	
  depends	
  on	
  the	
  
elas4city	
  of	
  labour	
  supply.	
  Extract	
  1	
  tells	
  us	
  that	
  many	
  of	
  the	
  jobs	
  in	
  
mining	
  are	
  highly	
  skilled	
  which	
  suggests	
  that	
  the	
  elas4city	
  of	
  labour	
  
supply	
  will	
  be	
  low	
  in	
  the	
  short-­‐term	
  because	
  of	
  occupa4onal	
  
immobility.	
  Factors	
  such	
  as	
  free	
  movement	
  of	
  labour	
  within	
  the	
  EU	
  have	
  
the	
  effect	
  of	
  increasing	
  the	
  labour	
  supply;	
  for	
  example	
  miners	
  from	
  
Poland	
  or	
  the	
  Bal4c	
  States	
  might	
  be	
  anracted	
  to	
  work	
  in	
  the	
  UK	
  mining	
  
industry	
  because	
  of	
  higher	
  rela4ve	
  earnings.	
  This	
  is	
  shown	
  by	
  an	
  
outward	
  shiT	
  of	
  labour	
  supply.	
  	
  
Although	
  wages	
  are	
  important,	
  labour	
  supply	
  might	
  be	
  affected	
  more	
  
by	
  non-­‐monetary	
  characteris4cs	
  –	
  e.g.	
  risk,	
  working	
  condi4ons,	
  
employer	
  training	
  and	
  occupa4onal	
  pension	
  schemes.	
  Mining	
  is	
  well	
  
paid	
  but	
  it	
  is	
  also	
  an	
  insecure	
  industry	
  especially	
  when	
  world	
  prices	
  are	
  
vola4le.	
  This	
  might	
  cut	
  the	
  number	
  of	
  people	
  willing	
  to	
  work	
  in	
  the	
  
industry	
  and	
  is	
  perhaps	
  the	
  most	
  significant	
  factor	
  affec4ng	
  supply.	
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